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Solved Examples


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. A wax cube of edge 6 cm is melted and
formed into three smaller cubes. If the edges
of two smaller cubes are 3 cm and 4 cm . What

is the edge of the third smaller cube?

o Watch Video Solution

2. The breadth of a room is twice its height
and is half of its length. The volume of room is

512dm?. Its dimensions are :

o Watch Video Solution



https://dl.doubtnut.com/l/_nTEXccZCr5EG
https://dl.doubtnut.com/l/_RvoqHjqxBSrQ

3. The dimensions of a rectangular box are in
the ratio 1:2:4 and the difference between
the costs of covering it with the cloth and
sheet at teh rate of Rs. 20 and Rs. 20.50 per
square meters respectively is Rs. 126. Find the

dimensions of the box?

o View Text Solution

4, 247 Three cubes of side 4 cm each are

joined end to end to form a cuboid. The


https://dl.doubtnut.com/l/_RvoqHjqxBSrQ
https://dl.doubtnut.com/l/_IaxMm8aoceDW
https://dl.doubtnut.com/l/_dnemw32NyK2F

surface area of theresulting cuboid and total
surface area of the three cubes are in the

ratio:(B) 7:3(C) 7:9(D) 9:7

o Watch Video Solution

5. What is the volume of a cube (in cubic cm)

whose diagonal measures 4,/3 cm?

° Watch Video Solution



https://dl.doubtnut.com/l/_dnemw32NyK2F
https://dl.doubtnut.com/l/_gncbg946Twk1

6. By what percent the volume of a cube
increases if the length of each edge was
increased by 50%? (a) 50% (b) 125% (c) 237.5%

(d) 273.5%

° Watch Video Solution

7.The areas of three adjacent faces of a cuboid
are x, y and z. If the volume is V, prove that

V? = zyz

° Watch Video Solution



https://dl.doubtnut.com/l/_NuXtWzDwtkqc
https://dl.doubtnut.com/l/_51h6aya3DQo4

8. Find the length of the longest rod that can
be placed in a hall of 10 m length , 6 m breadth

and 4 m height?

o Watch Video Solution

9. A plot of land in the form of a rectangle has
a dimension 240m x 180m . A drainlet 10m
wide is dug all around it (on the outside) and

the earth dug out is evenly spread over the


https://dl.doubtnut.com/l/_51h6aya3DQo4
https://dl.doubtnut.com/l/_sCReMnRC661g
https://dl.doubtnut.com/l/_AEp4onObMFH8

plot, increasing its surface level by 25 cm. Find

the depth of the drainlet.

° Watch Video Solution

10. A hall is 15 m long and 12 m broad. If the
sum of the areas of the floor and the ceiling is
equal to the of the areas of the 4 walls, what is

the volume of the hall?

o Watch Video Solution



https://dl.doubtnut.com/l/_AEp4onObMFH8
https://dl.doubtnut.com/l/_TR97FI0kozyp

11. A metal box measures
20cm x 12em x 5em. Thickness of the metal
is 1 cm. Find the volume of the metal required

to make the box.

o Watch Video Solution

12. The cost of preparing the walls of room
12m long at the rate of Rs. 1.35 per square

metre is RS. 340.20 and the cost of matting


https://dl.doubtnut.com/l/_1HLGou98Pxd0
https://dl.doubtnut.com/l/_SZcX4vK7rEak

the floor at 85 paise per square metre is Rs.

91.80. Find the height of the room.

° Watch Video Solution

Question Bank 23

1. A cuboid (3ecm x 4em x bem) is cut into

unit cubes. The ratio of the total surface area

of all the unit cubes to that of the cuboid is

A.180:3


https://dl.doubtnut.com/l/_SZcX4vK7rEak
https://dl.doubtnut.com/l/_gMRKf8jBKJAY

B.180:9

C.180: 36

D. 180: 47

Answer: D

o Watch Video Solution

2. The volume of a cube is V. What is the total

length of its edges?

A 6V1/3


https://dl.doubtnut.com/l/_gMRKf8jBKJAY
https://dl.doubtnut.com/l/_v5D6hikbf36p

B.8V

C.12V2%/3

D.12V1/3

Answer: D

o Watch Video Solution

3. The volume of a cube is numerically equal to
the sum of its edges. What is its total surface

area in square units? (a) 36 (b) 66 (c) 72 (d) 183


https://dl.doubtnut.com/l/_v5D6hikbf36p
https://dl.doubtnut.com/l/_EG2Ixrppr56E

A. 66

B. 183

C.36

D.72

Answer: D

o Watch Video Solution

4. If the surface area of a cube is 216cm?, then

the length of its diagonal is


https://dl.doubtnut.com/l/_EG2Ixrppr56E
https://dl.doubtnut.com/l/_mXcwsjrcm35X

A.6,/3cm
B. 6cm

C.8cm

D. 7./3cm

Answer: A

o View Text Solution

5.1f 6 cubes each of 10 cm edge are joined end
to end, the surface area of the resulting solid

will be


https://dl.doubtnut.com/l/_mXcwsjrcm35X
https://dl.doubtnut.com/l/_KcixAj5nd6LT

A. 3600cm>

B. 3000cm>

C. 2600cm?>

D. 2400cm?

Answer: C

o View Text Solution

6. A closed box made of wood of uniform
thickness has length, breadth and height 12

cm, 10 cm and 8 cm respectively. If the


https://dl.doubtnut.com/l/_KcixAj5nd6LT
https://dl.doubtnut.com/l/_roo3qOgZtfxm

thickness of the wood is 1 cm, the inner

surface area is (a) 264 cm2 (b) 376 cm2 (c) 456

cm2 (d) 696 cm?2

A. 456¢cm?

B. 376cm>

C. 264cm?

D. 696¢cm >

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_roo3qOgZtfxm
https://dl.doubtnut.com/l/_2lIyKUda2vTw

7. Three cubes of metal of edges 6 cm, 8 cm

and 10 cm are melted to form a new cube. The

diagonal of this new cube is

A.8 cm

B.12 cm

C. 20.78 cm

D. 21.8 cm

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_2lIyKUda2vTw
https://dl.doubtnut.com/l/_FHbBLuQrPL1L

8. Each edge of a cube is increased by 50%.

Find the percentage increase in the surface

area of the cube.

A. 50

B. 125

C. 150

D. 225

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_FHbBLuQrPL1L

9. A cuboidal water tank contains 216 litres of

1
water. Its depth is 3 of its length and breadth

1

is 2 of 3 of the difference between length

and depth. The length of the tank is (a) 2 dm
(b) 6dm (c) 18 dm (d) 72 dm

A.72dm

B.18 dm

C.6dm

D.2dm

Answer: B


https://dl.doubtnut.com/l/_NlB8nXMJfeFM

° Watch Video Solution

10. A cistern of capacity 8000 litres measures

externally 3.3 m by 2.6 m by 1.1 m and its walls

are 5 cm thick. The thickness of the bottom is

(a)90cm (b) Tdm (c) Tm(d) 11 m

A.Tm

B.11m

C.1dm

D.90 cm


https://dl.doubtnut.com/l/_NlB8nXMJfeFM
https://dl.doubtnut.com/l/_Eq3uaWMs3zzn

Answer: C

° Watch Video Solution

1. Water is distributed to a town of 50000
inhabitants from a rectangular reservoir
consisting of three equal compartments. Each
compartment has a length and breadth 200 m
and 100 m respectively, and 12 m depth of
water in the beginning. The allowance is 20
litres per head per day. For how many days will

the supply of water hold out?


https://dl.doubtnut.com/l/_Eq3uaWMs3zzn
https://dl.doubtnut.com/l/_tuRlyxiuE3NT

A. 240 days

B. 720 days

C. 800 days

D. 900 days

Answer: B

o Watch Video Solution

12. The length of a room is 3 times its

breadth. The total area of the four walls of this

28

room is i times the area of the floor of the


https://dl.doubtnut.com/l/_tuRlyxiuE3NT
https://dl.doubtnut.com/l/_cQqR0MSKMlRD

room. What is the ratio of the height of the

room to the length of the room?

A 2:3

B.1:2

C.2:5

D.8:15

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_cQqR0MSKMlRD

13.The height of a room is 'a' and the areas of
the two adjacent walls of a room are 'b' and 'c'.

The area of the roof will be

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_ef5Em6UI1isx

14. If V be the volume of the cuboid of

dimensions a, b and c and S its total surface

4 (1 1 1Y\ . .
area,then —| — + — + — ] interms of V is
S\a b c

equal to

<[ = <Ies <|Iv <[

Answer: B

I o View Text Solution


https://dl.doubtnut.com/l/_zis27h8MtQnh

15. The height of a wall is six times its width
and the length of the wall is seven times its
height. If volume of the wall be 16128m?® its
width is

A5m

B.4 m

C.45m

D. 6m


https://dl.doubtnut.com/l/_zis27h8MtQnh
https://dl.doubtnut.com/l/_1HRBoL1el2Ns

Answer: B

o View Text Solution

16. A swimming bath is 24 m long and 15 m
broad. When a number of men dive into the
bath, the height of the water rises by 1 cm. If
the average amount of water displaced by one
of the men be 0.1 cu. m, how many men are

there in the bath? (a) 32 (b) 36 (c) 42 (d) 46

A. 32


https://dl.doubtnut.com/l/_1HRBoL1el2Ns
https://dl.doubtnut.com/l/_uAGZow2R6xR7

B.36

C.42

D. 46

Answer: B

o Watch Video Solution

17. A cistern, open at the top, is to be lined
with sheet of lead which weighs 27 kg/m2. The

cistern is 4.5 m long and 3 m wide and holds


https://dl.doubtnut.com/l/_uAGZow2R6xR7
https://dl.doubtnut.com/l/_rmtKbJZd2onz

50 m3. The weight of lead required is (a) 1660.5

kg (b) 1764.5 kg (c) 1860.5 kg (d) 1864.5 kg

A.1660.62 kg

B. 1764.60 kg

C.1864.62 kg

D. 1860.62 kg

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_rmtKbJZd2onz

18. How many small cubes, each of 96 cm
surface area, can be formed from the material
obtained by melting a larger cube of 384 cm
surface area? (a) 5 (b) 8 (c) 800 (d) 8000

A.8

B.5

C. 800

D. 8000

Answer: A

‘ ° Wiak lh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_6j9rRqoUPxAB

YVOILLIL VI INAGINIE L J

19. The length, breadth and height of a cboid
are in the ratio 1:2:3. If they are increased by
100%, 200% and 200% respectively, then
compared to the original volume the increase
in the volume of the cuboid will be

A. 5 times

B. 18 times

C. 12 times

D. 17 times


https://dl.doubtnut.com/l/_6j9rRqoUPxAB
https://dl.doubtnut.com/l/_AXm7qLN2t25y

Answer: D

o Watch Video Solution

20. The volume of a cuboid whose sides are in
the ratio 1:2:4 is same as that of a cube. What
is the ratio of the length of diagonal of the

cuboid to that of the cube?

A.,/1.25

B./1.75
C. /2


https://dl.doubtnut.com/l/_AXm7qLN2t25y
https://dl.doubtnut.com/l/_ROQbWsVTMXSr

Answer: B

° View Text Solution

21. A cuboid of size 8cm X 4dem X 2cmis cut
into cubes of equal size of 1 cm side. What is
the ratio of the surface area of the original
cuboid to the surface area of all the unit cubes

so formed?

A 13:14


https://dl.doubtnut.com/l/_ROQbWsVTMXSr
https://dl.doubtnut.com/l/_Kw926RareIiH

B.8:3

C.7:24

D.7:12

Answer: C

o View Text Solution

22. The height of a room is 40% of its semi
perimeter. It costs 260 to paper the walls of

the room with paper 50 cm wide at 2 per


https://dl.doubtnut.com/l/_Kw926RareIiH
https://dl.doubtnut.com/l/_bJlCR1gnm1Y0

metre allowing an area of 15 m2 for doors and

windows. The height of the room is

A.26m

B.39m

C.4m

D.4.2m

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_bJlCR1gnm1Y0

23. The piece of chocolate biscuit given is filled
with a thin layer of vanilla cream. What per
cent of the biscuit is vanilla cream? Assume

the layer of vanilla cream forms a cuboid.

4 rmm.

2 mim VANILLA CREAM

smnl /LI

35 mm

185 mm

A. 20 %

B.25%

C.33 %


https://dl.doubtnut.com/l/_TfqD821EXSYb

D. 50 %

Answer: A

o Watch Video Solution

24. 2 cm of rain has fallen on a square
kilometer of land. Assuming that 50% of the
rain drops could have been collected and
contained in a pool having a 100m x 10m
base, by what level would the water level in

the pool have increased?


https://dl.doubtnut.com/l/_TfqD821EXSYb
https://dl.doubtnut.com/l/_f7rWP7vsC4lo

A.15m

B.20 m

C.10 m

D.25 m

Answer: C

o Watch Video Solution

25. The number of bricks, each measuring
25cm x 12.5¢m X 7.5¢cm , required to

construct a wall 6 m long, 5 m high and 0.5 m


https://dl.doubtnut.com/l/_f7rWP7vsC4lo
https://dl.doubtnut.com/l/_YElMp8afyGNF

thick, while the mortar occupies 5% of the

volume of the wall, is (a) 3040 (b) 5740 (c)

6080 (d) 8120

A. 5740

B. 6080

C.3040

D. 8120

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_YElMp8afyGNF
https://dl.doubtnut.com/l/_k4vWTj8CZDCp

26. A larger cube is formed from the material
obtained by melting three smaller cubes of 3,
4 and 5 cm side. The ratio of the total surface
areas of the smaller cubes and the larger cube
is(a)2:1(b)3:2(c)25:18(d) 27 : 20

A2:1

B.3:2

C.27:20

D.25:18

Answer: D

[ 1


https://dl.doubtnut.com/l/_k4vWTj8CZDCp

I O Watch Video Solution

27.The length of a room is double its breadth.
The cost of colouring the ceiling at Rs 25 per
sg. m is Rs 5000 and the cost of painting the
four walls at Rs 240 per sq. m is Rs 64800. Find
the height of the room. (a) 3.5m (b) 4m (c)

4.5m (d) 5m

A.45m

B.4 m

C.35m


https://dl.doubtnut.com/l/_k4vWTj8CZDCp
https://dl.doubtnut.com/l/_msyzn7Yc2aMo

D.5m

Answer: A

° Watch Video Solution

28. A wooden box (open at the top) of
thickness 0.5 cm, length 21 cm, width 11 cm and
height 6 cm is painted on the inside. The
expenses of painting are Rs. 70. What is the

rate of painting per square centimetre?

A.Rs. 0.7


https://dl.doubtnut.com/l/_msyzn7Yc2aMo
https://dl.doubtnut.com/l/_HQj0HZnhOLHn

B.Rs. 0.5

C.Rs. 01

D.Rs. 0.2

Answer: C

o Watch Video Solution

29. An agricultural field is in the form of a
rectangle of length 20m and width 14m. A pit
6mlong, 3mwideand2. 5mdeep is dug in a

corner of the field and the earth taken out of


https://dl.doubtnut.com/l/_HQj0HZnhOLHn
https://dl.doubtnut.com/l/_lLVqC3RZLk2R

the pit is spread uniformly over the remaining

area of the field. Find the extent to which the

level of the field has been raised.

A. 1516 cm

B.16.17 cm

C.1718 cm

D. 18.19 cm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_lLVqC3RZLk2R
https://dl.doubtnut.com/l/_plALm6KaaezV

30. Water flows into a tank 200m x 150m

through a rectangular pipe 1.5 x1.25 @

20kmph. In what time (in minutes) will the

water rise by 2 metres?

A. 76 min

B. 80 min

C.90 min

D. 96 min

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_plALm6KaaezV

Self Assessment Sheet 23

1. The volume of a rectangular block of stone is

10368 dm3. Its dimensions are in the ratio of 3
: 2: 1. If its entire surface is polished at 2 paise
per dm2, then the total cost will be (a) Rs 31.50
(b) Rs 31.68 (c) Rs 63 (d) Rs 63.36

A.Rs. 31.50

B.Rs. 31.68

C.Rs. 63


https://dl.doubtnut.com/l/_plALm6KaaezV
https://dl.doubtnut.com/l/_qrqpeJeEHdvO

D. Rs. 63.36

Answer: D

° Watch Video Solution

2. The volume of a cuboid is twice that of a
cube. If the dimensions of the cuboid are 9 cm,
8 cm and 6 cm, the total surface area of the
cube is (a) 72 cm2 (b) 108 cm2 (c) 216 cm2 (d)

432 cm?2

A. 72em?


https://dl.doubtnut.com/l/_qrqpeJeEHdvO
https://dl.doubtnut.com/l/_mW3orJY9pIhL

B. 216¢cm >

C. 432cm?

D. 108¢cm>

Answer: B

o Watch Video Solution

3. The edges of a cuboid are in the ration 1:2:3
and its surface ara is 88cm?>. The volume of the

cuboid is


https://dl.doubtnut.com/l/_mW3orJY9pIhL
https://dl.doubtnut.com/l/_zv1xIAg33BXn

A. 120em?®

B. 64cm®

C. 48¢cm?

D. 24cm?®

Answer: C

o Watch Video Solution

4. A small indoor greenhouse (herbarium) is
made entirely of glass panes (including base)

held togther with tape. It is 30 cm long, 25 cm


https://dl.doubtnut.com/l/_zv1xIAg33BXn
https://dl.doubtnut.com/l/_H46QUCPQZX9l

wide and 25 cm high.

What is the area of the glass ?

A. 5000cm?

B. 4800cm>

C. 4250cm?>

D. 4500cm>

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_H46QUCPQZX9l

5. Two cubes each with 14 cm edge are joined

face to face, thus farming a cuboid. What is

the surface area of the resulting cuboid ?

A. 3528cm/>

B. 2352cm?

C. 1960cm?

D. 1568cm>

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_0jru1dQ9krZ5

6. A rectangular  room measures

10m x 10m x 5m. What is the maximum

length of the stick it can accommodate ?

A. 10m

B.15om

C.20m

D. 2bm

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1qWUU5whomq9

7. A godown measures 40m X 25m x 10m .

Find the maximum number of wooden crates

each measuring 1.5m X 1.25m X 0.5m that

can be stored in the godown.

A. 14000

B. 18000

C. 15000

D. 16000

Answer: D

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_gEKge9zAN938

8. A solid cube of side 12 cm is cut into eight

cubes of equal volume. What will be the side

of the new cube? Also find the ratio between

their surface areas.

A.6cm, 5:1

B.4cm, 4:1

C.6cm,4:1

D.5cm, 6:1


https://dl.doubtnut.com/l/_gEKge9zAN938
https://dl.doubtnut.com/l/_V9nqksJM5xPT

Answer: C

o Watch Video Solution

9. A metallic sheet is of the rectangular shape
with dimensions 48cmxz36cm- From each one
of its corners, a square of 8m is cutoff. An
open box is made of the remaining sheet. Find

the volume of the box.

A. 5120cm?

B. 6400cm®


https://dl.doubtnut.com/l/_V9nqksJM5xPT
https://dl.doubtnut.com/l/_TRdydxZD8NAO

C. 8960cm?

D. 2560cm?®

Answer: A

° Watch Video Solution

10. The volume (in my) of a cube whose

diagonal is 2.5 metre, is :

A 125+/3
L2

B625
-8


https://dl.doubtnut.com/l/_TRdydxZD8NAO
https://dl.doubtnut.com/l/_JeM72OMiLd2N

125+/2
C. V2

D125
"~ 8

Answer: A

° Watch Video Solution

Unit Test 5

1. If the longer side of a rectangle is doubled

and the other is reduced to half, then the area

of the new rectangle goes up by :


https://dl.doubtnut.com/l/_JeM72OMiLd2N
https://dl.doubtnut.com/l/_itkUC6GhPYvw

A. 50 %

B. 100 %

C.0%

D. 150 %

Answer: C

o Watch Video Solution

2. The wheel of a cycle covers 660 metres by
making 500 revolutions. What is the diameter

of the wheel (in cm)?


https://dl.doubtnut.com/l/_itkUC6GhPYvw
https://dl.doubtnut.com/l/_zIa00tLQ46vA

A 42

B. 21

C.30

D. 60

Answer: A

o Watch Video Solution

3. A village having a population of 4000
requires 150 litres of water per head per day. It

has a tank measureing 20m x 15m X 6m.


https://dl.doubtnut.com/l/_zIa00tLQ46vA
https://dl.doubtnut.com/l/_actcin6kg2Hv

For how many days will the water of this tank

last ?

A. 5 days

B. 3 days

C. 4 days

D. 2 days

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_actcin6kg2Hv

4. In exchange of a square plot one of whose
sides is 84m, a man wants to buy a rectangular
plot 144 m long and of the same areas of the
square plot. Find the width of the rectangular
plot.

A.48m

B.50m

C.49m

D.49.5m

Answer: C


https://dl.doubtnut.com/l/_QQyYOeesKh8r

° Watch Video Solution

5. What will be the perimeter of a rectangle if
its length is 3 times its width and the length
of the diagonal is 8,/10 cm?

A.16,/10cm

B. 15,/10cm

C. 64cm

D. 24,/10cm

Answer: C


https://dl.doubtnut.com/l/_QQyYOeesKh8r
https://dl.doubtnut.com/l/_CofjWTCjOgDk

° Watch Video Solution

6. The area of a circle drawn with its diameter
as the diagonal of a cube of side of length 1

cm each is :

4
A .— sgcom

B. — sgom

C. — sqcm

D. — sqcm

Answer: C


https://dl.doubtnut.com/l/_CofjWTCjOgDk
https://dl.doubtnut.com/l/_Nc8AlXMTaXBm

° Watch Video Solution

7.The perimeter of an equilateral triangle and

area of A
a square are same, then =
area ofl |

A2
'3
B. 1
C.15

D. >1

Answer: D



https://dl.doubtnut.com/l/_Nc8AlXMTaXBm
https://dl.doubtnut.com/l/_pazwFV5VddE1

L Watch Video Solution J

8. The quadrants shown in the figure .given
here are each of diameter 12 cm. What is the

area of the shaded portion ?

A.12(12-)em?


https://dl.doubtnut.com/l/_pazwFV5VddE1
https://dl.doubtnut.com/l/_fa6rUzZNzfLD

B. 144(4— 1) cm?
C. 36mem?

D. 36(4—7)cem?

Answer: D

o Watch Video Solution

9. A plastic box 1.5 m long, 1.25 m wide and 65
cm deep is to be made. It is opened at the top.
lgnoring the thickness of the plastic sheet,

determine:


https://dl.doubtnut.com/l/_fa6rUzZNzfLD
https://dl.doubtnut.com/l/_YG2wTYAGleXf

The cost of sheet for it, if a sheet measuring

1m? costs Rs 20.

A. Rs.100

B. Rs. 109

C.Rs.115

D. Rs.110

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YG2wTYAGleXf

10. A wooden box measures 20 cm by 10 cm by

9 c¢cm. Thickness of wood is 1 cm. Volume of

wood to make the box (in cubic cm) is :

A. 792

B. 519

C. 2400

D. 1120

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_1Mo0SUQIjt5G

11. Front side wall of a house consists of a
rectangle of 6m x 4m surrounded by a
semicircle with base 4 m. It has two isosceles
triangles made with vertical sides of the

rectangle. The net area of the wall in sq m is:



https://dl.doubtnut.com/l/_JAqTypB7Maai

C.4(24 + )

D.64 + 4x

Answer: A

O Watch Video Solution

12. If the sum of diagonals of a rhombus is 10
cm and its area is 12cm?, then the lengths of

its diagonals are :

A.55


https://dl.doubtnut.com/l/_JAqTypB7Maai
https://dl.doubtnut.com/l/_0ufgr3Ik62L2

B. 9,1

C. 8,2

D. 6,4

Answer: D

o Watch Video Solution

13. Four equal sized maximum circular plates
are cut off from a square paper sheet of area
784 cm2. The circumference of each plate is (a)

22 cm (b) 44 cm (c) 66 cm (d) 88 cm


https://dl.doubtnut.com/l/_0ufgr3Ik62L2
https://dl.doubtnut.com/l/_RBLVySfUPlYx

A. 22 cm

B.44 cm

C.66 cm

D. 88 cm

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_RBLVySfUPlYx

14. The area of the given figure ABCDEF is :

A 5 am 0
o S5cm) G
3 oM
E o
)
A. 22.82cm?
B. 25.82cm?
C. 26.82cm’

D. 28.82cm>


https://dl.doubtnut.com/l/_ndsKWwEsD7Mx

Answer: D

o Watch Video Solution

15. The volume of a cube of 60 cm side is the

same as that of a cuboid one of whose sides is

36 cm. If the ratio of the other two sides is

15:16, then the largest side of the cuboid is :

A. 60 cm

B.75 cm

C.80cm


https://dl.doubtnut.com/l/_ndsKWwEsD7Mx
https://dl.doubtnut.com/l/_0kNTPsGmneGo

D.90 cm

Answer: C

° Watch Video Solution

16. The area of a square and a rectangular field
is equal and is 900m?. If the perimeter of the
rectangular field is 2 m more than that of the
square field, calculate the dimensions of the

rectangular field.

A.24 m,10 m


https://dl.doubtnut.com/l/_0kNTPsGmneGo
https://dl.doubtnut.com/l/_zr5jCFkC2oe5

B.30m, 25 m

C.36m,25m

D.36 M, 24 m

Answer: C

o Watch Video Solution

17. The sum of length, breadth and height of a
cuboid is 12 cm long and its diagonalis 8 cm.

The total surface area of the cuboid is :


https://dl.doubtnut.com/l/_zr5jCFkC2oe5
https://dl.doubtnut.com/l/_zlGX96hAfhNv

A. 88 sg cm

B.85sq cm

C.90sg cm

D. 80 sq cm

Answer: D

o Watch Video Solution

18. The sum of length, breadth and height of a

room is 19 m. The length of the diagonal is 11


https://dl.doubtnut.com/l/_zlGX96hAfhNv
https://dl.doubtnut.com/l/_J3VjWt8Pa1em

m. The cost of painting the total surface area

2

of the room at the rate of Rs. 10 per m” is

A.Rs. 240

B. Rs. 2400

C.Rs. 430

D. Rs. 4200

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_J3VjWt8Pa1em

19. Three cubes of metal whose edges are in
the ratio 3:4:5 are melted down into a single
cube whose diagonal is 12,/3 cm . Find the
edges of three cubes.

A.6cm,8cm,10 cm

B.3cm,4 cm,5cm

C.9cm,12cm, 15 cm

D. None of these

Answer: A

‘ ° Wiak hh \tAAaA CAaliikianm



https://dl.doubtnut.com/l/_wsUWRUKKHEY9
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20. ABCD is a parallelogram with sides AB = 12
cm, BC= 10 cm and diagonal AC = 16 cm. The
area of the parallelogram and the distance
between the shorter sides are respectively.
A.120.5¢m?, 12.05¢m.
B. 119.8¢cm?, 11.98cm

C.118.71cm?, 11.87cm

D.117.9cm?, 11.79¢m


https://dl.doubtnut.com/l/_wsUWRUKKHEY9
https://dl.doubtnut.com/l/_gIUzcHHubGRq

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gIUzcHHubGRq

